REMACO

(© COPYRIGHTS 1998 «REMACO TECHNOLOGIES PTE LTD Website: www.remacotech.com

Installation Guide (For TAS-900B) |

TAS

Important Notes:
All TV / Monitor stands are thoroughly inspected and fully tested operational in factory.

We accept no liability whatsoever for any losses due to improper operation, or any unauthorized alternation.
All trademarks contained in this installation guide are the property of their respective owners.

Max Load: 50 Kgs

2
R N
d
Q F.4pcs -
% G.M8x10pcs £ M.Spacers
2 @
® H.M8x6pcs d
4pcs
@® 1.5/16"x4pcs N
Q| Y% M4x16 6pcs ” M6x20 6pcs v M8x20 4pcs
= \ M4x25 6pcs
J.1pc N M5x16 6pcs M6x55 6pcs M8x55 4pcs
\ M5x25 6pcs
D.1 pcfeach g O.Washers

C.1pc ® M5x6pcs ®4<6pcs @ 5/16"x2pcs







	Page 1
	Page 2

